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1207 =HAET |RRKM 37° 29° | 01.73" | 140° 33 |3601” | 6A3A 0.26|  0.26|EL#E11984&BL
1208| Z=&HHET [ERH/AKFR 37° 29" 117477 | 140° 32" |5651” | 6A3A 0.26 0.25| 58 1198 6B
1209| =HAET |RRLEE 37° 29" | 07.42" | 140° 32" |3816” | 6A3A 016  0.17|RE2995# - Ri#11905MRZE A A
1210| =HET |EREARK 37° 29" |20.66” | 140° 31”7 47217 | 6A3A 016  0.16{RE1195#AL EARK/REHA
1211 =HAET |EREMA 37° 29" |33.32" | 140° 30" |3219” | 6A3A 040  0.41|RE1195#HAL AEHEDHERME
1212 =HAET |EREM 37° 29" | 2885 | 140° 30" |4574” | 6A38 026  0.23|EL#E11984&BL
1213| =HABr |tERLO 37° 28" | 46.07” | 140° 29°  |4163” | 6A38 0.17|  0.16|E#E40SHBL
1214 =HET |FREZA 37° 28" |09.88” | 140° 28" |2625” | 6A3A 0.31 0.30|RiE 116841 BILTEDERIE
1215| =HET |BEAREMIERA 37° 27 143777 | 140° 30" |26.12” | 6A3A 0.17 0.16| ABHERFTHE
1216 =&ET |HSKEEN 37° 27 | 4275”7 | 140° 29" |3578” | 6A3A 0.23 0.18|REA0SHALY BAM/ R ERHL
1217| =Z&HET  |[FREAR 37° 27" 45577 | 140° 28" |5963” | 6A3A 0.19 0.20|#152E tth/ \Z {2 4F 35
1218| =B |FREFE 37° 27" | 30.60” | 140° 28" | 1454” | 6A38 047  047|RE28SHALY BILFEDEER R
1219| =HET |FREFE 37° 277 2027”7 | 140° 28" 1394 | 6A38 026  0.28|RE1165# RE28SMRE MIE
1220 =&ET |RREKEAMT 37° 26" | 55.16” | 140° 30" |58.94” | 6A3A 0.13 0.11|RE505 4 - EiE288 BRI & A fHE
1221 Z=HET |RRELFH 37° 26" | 4549” | 140° 30" 1058 | 6A48 019  0.16|EE2885#ALY EFNBEREMA
1222| Z=&HHET |(FriRE&EE 37° 26" | 14.08” | 140° 30" |3553” | 6A4A 0.17 0.19|LE300 5 HALY
1223) =&HET |FoiREME 37° 26" | 05.18” | 140° 30"  |4623” | 6R48 0.14|  0.12|E#E300S&BL
1224 =HET |FRBHE 37° 26" | 5504” | 140° 29°  |0541” | 6A3A 032  0.31|RE405#K BE28EHIEMME
1225| =B |chET 37° 26 1 29.98” | 140° 29°  14.33” | 6R48 0.13| 010
1226| =3B (U 37° 26" | 20.18" | 140° 29°  |47.79” | 6R48 012  0.12|RE3005# - REA0SHAE M TE
1227 =&HBT  |$ET 37° 26" | 07.58" | 140° 29°  |5143” | 6R48 0.12|  0.13|E#E40SHBL
1228| =&HET |/\KEHET 37° 26" | 2368" | 140° 28 |59.34” | 6R48 0.11 0.09|Ri#E545 4% EE288 SRR EME
1229| =HET |FoiREME 37° 25" | 47.63" | 140° 30"  |5749” | 6R48 0.14|  0.14|REI005#HAL BERTEDHERME
1230 =&BT (HILRR 37° 25" |50.70” | 140° 29" |2291” | 6R48 014  0.13|RE1445HAL ETEISHYURME
1231 =%HEr |RWLEFA 37° 25’ | 2864" | 140° 29° 1283 | 6R48 0.11 0.12|R5E 14454081 AETRAMLAE
1232 =HAET |%R&ZWL 37° 25 1 09.59” | 140° 29°  |5823” | 6A4R 012  O.13|REA0SHAL HILNRERE
1233 =HET |ERE/AE 37° 25 | 4868" | 140° 28" |27.74” | 6R48 0.17|  0.18|EL#E54 BB
1234 =&HE |EEFZA 37° 25" | 06.89” | 140° 27" | 4025” | 6A4R 0.16 0.16| R E54 S4B
1235 Z=HHET [ERAR 37° 24" 2850”7 | 140° 30" |0273” | 6A4A 0.13 0.13| =& TR
1236 =HET |EEH 37° 24" | 1541”7 | 140° 30" |11.05” | 6A48 0.12|  0.12|EE40SHBL
1237) =HE1 |RESEH 37° 24" | 03.92" | 140° 30" |09.74” | 6R48 0.12|  0.11|EBEA0SHBLY hEME( iR
1238 Z=&HET |[SEFEREHARKR 37° 24" 4659”7 | 140° 29" | 1461”7 | 6A4R 0.10 0.1
1239 =HET |#iRAL/A 37° 24" | 4479" | 140° 29°  03.14” | 6R48 0.12|  0.12|E#E1442BL
1240| =HBT |BAEM 37° 24" | 41.99” | 140° 28" 2034” | 6R48 0.14|  0.15|=&0 2 AELEEME
1241 =HE |EAH/A 37° 24" [19.58” | 140° 28" 2950” | 6R48 015  0.16|=&F4 LEEHEME
1242 Z=&HET |[EAREWL 37° 24" 1202”7 | 140° 28" | 4279” | 6A4R 0.19 0.18
1243 =HAET |iBRETH 37° 24" | 06.43" | 140° 27" |2214” | 6R4B 013  0.14|RESASHALY FEHETH/ \REME
1244 =HET |MEETEE 37° 23" 1 43.38” | 140° 30" |51.86” | 6A4R 0.15 0.18|RE57 S4B
1245 Z=FHET |RAfE 37° 23" 14817 | 140° 30" |16.11” | 6A4R 0.12 0.11| BRIl E DB R TR
1246| =HET (ELERE 37° 23" |56.18” | 140° 29°  |5095” | 6A48 0.14|  0.14|EE57SHBL
1247| =BT |JMEIME 37° 23" | 4528” | 140° 29" |1061” | 6R48 0.14|  0.13|EES7EHBL
1248 =HET |JMEAHR/A 37° 23" | 4826" | 140° 28" |4245” | 6R48 0.14|  0.15|EE57 B
1249| =HAET |BRETH 37° 23" |5592” | 140° 27" 3323” | 6R4B 020|  0.18|ELE57EMBL
1250 Z=&HET |FE=AK 37° 23" | 54.97" | 140° 26" 4820”7 | 6A4R 0.14 0.14|REE75HALY EILTHEDHERE
1251 =&HE |[@BRE/A 37° 22" | 46.44" | 140° 29°  |15.18” | 6A48 014  O.13|RE144BHALY B/ ANRERE
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